Concrete crusher SRC dismantling machine When not understanding Japanese, please compare a picture with an alphabet.

=T KHIi- SRCE I

LR ILDINEINT %Eﬁﬁfﬁ %
BEIZY% [sotr5amss=rsas e o nBEmBETEES,
A = H — NPK NPK NPK
Ei) = S-36XC S-23XC S-13XC
W3R 25~30tU> X 20t9Z & 10t0Z &
REFEHBEE A 3,770 ke 2275 kg 1,395 kg
= EB 2,885 mm 2,560 mm 2,299 mm
218 (£ C 2,366 mm 1,765 mm 1,455 mm
HABOMED 1,355 mm 1,000 mm 810 mm
FeimagE A 1,400 &N 890 kN 660 kN
A — h — NPK AHETFA3I HEZER T A — H — NPK
Eid) = X=-TA TS-WB350 TNH-17-1 Zl ey SV24X
BEAaNL TtIZR 3t~4tUT X | 1.5t~2t9T X ERAaNL 20t &
REBES 660 kg 240 kg 142 kg FEBEE A 2510 ke
2 £B 1,576 mm 1,093 mm 956 mm S £B 2,591 mm
218 (L) C 1,169 mm 680 mm 570 mm £iE(£EE) C 1,632 mm
RABOWED 550 mm 360 mm 310 mm =ARO®RD 1,100 mm
SeInBEE h 490 kN 240 kN 210 kN Feif iR 1,100 kN
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A = H — NPK
£id) = SRC25
A I 20t 2R
FEEBE=E A 2,595 kg
=z £B 2,624 mm
218 (2K C 1,712 mm
mAROME D 1.025 mm A
S AE R 960 kN
B A WPOIS0 __ MPGI2W0 _ _MPGI00 _ g
hE= (kg) 4900 2880 2480 . s
2 EH (m/m) 2950 2600 2200 il Lq\
T wBW (m/m) 1750 1500 1350 "
EARCE A (m/m) 1500 1200 1000
HwvASA—FCE B (m/m) 1000 850 750
B FEOE (m/m) 0 0 0
EAXMEAESD (MPa (kgf/ci) 31.4 (320) 31.4 (320) 31.4 (320)
SCimRhER (kn (ton) 1372 (140) 961 (98) 686 (70)
FRoRARER (kn <{ton) 1852 (189) 1539 (157) 1235 (126)
HyS—DE= 500 450 450
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